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OO M7H A A S B HTI S ERAIEN 1 S (R H) 5 5 248 3.26
Do SR ELBHES HRIERILIE 1 Z(FA) 2 2 16.3 24.27
Ozjof A 2fAlot Y BH BB HRHERFAIEF 1 Z(FA]) 2 1 17.73 25.95
Ojgjo Al e atE 2f Aot Y BN BB HRFFRAIEL 1 5 (F4)) 2 1 18.78 26.76
ool et E A BHES HRIERIE 1 Z(F4)) 1 1 26.85 33.52
OO NASSHE 7| 7K FEA AT AT SHIRERLIEL 1 23(F4)) 2 1 19.96 28.2
O2Hof AOHHAt Y 2 2 HO|H Y B ARERLIEL 1 3 (F4)) 3 2 11.43 16.95
Olgjo M x| ZA S 2 UGN AT HARFRLIEL 1 5 (R A =8 (= Hi

- 5 4 4.13 7.34
Ojzjof A QIC| Ot QI T2t M ZHRFE RFAIEF 1 5 (F4)) 2 2 16.36 21.51
O|2jofl AIXHAtHY & TDF2040 S HEAHEXHAEN 1 S(FA -T2 Y) 4 2 9.06 16.53
O|2H off AUXHAFEY 2 TDF2040 S HAHE XA EL 2 & (FA = 8t-THZHHH) 4 2 9.02 16.51
Ojzjof AAxto|LtE 2t A A B B S HARERLE 1 2(F4)) 2 2 16.96 19.18
Oj2hof 2UXto| Lt M 100 QIH AT HRHERHIEL 1 2 (FA]-IHE H) 2 2 20.29 21.73
Ol2jof AXto| Lt QI T2t M ZHRFE R EF 1 5 (F4)) 2 2 16.61 19.04
Oj2jol A XIC| ot QI T2t M Ef B RFE R EF 1 5 (F4)) 3 2 13.3 15.87
OO M E X AF NS EA AT HARERLIEL 1 5(F4)) 3 2 12.39 20.52
02O M E| 2| Z 24 BRICs A BCHE 40 SAEXEXAE 1 S(riEES 4 4 533 6.78
OJ2HOI M E|Z] E 34 BRICs ABHES HEXIERHIE 1 Z(FA)) 3 2 14.34 17.81
O ME X ENSFHLSE 40 SR FERAEH 1 S(R|EET 4 4 6.02 9.23
O[O M E| X ZEHO|H A LS E 40 SHEXFERAEH 1 S(r{EET 5 4 4.61 6.75
OO MEI XIS MEICIOL Y B 40 S AR FRHAIE 1 Z(*HA =T 5 4 4.94 6.26
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